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Question ID: | 1269456

Question Type:

Numeric Answer

50 cm 6@6l4 \99°10 g 92 Q 9la 699 U9l 2AgYd G @ 65 60 ms™! 263 | 9@
GIa @ g96g@ 686TR 2 mm? U6° Al FgRa(ae gelie) 1.2 x 101 Nm2 Ye*

Question: = 2
Glolel me] 9 (g65ads) aIgQm M) @Ralen x x 107" m g+l (G199 6o'ads
EFIGté‘I@) ECET X 59 |

Topic: Physics-Section B

Item No: 57

Question ID: 1269457

Question Type:

Numeric Answer

Y@ 289 6dngni] @ Mive @ [‘El@:} Q 2eUIF NS, 5. Edn'gmel o 2leadis 10 s |

Question: 2IFQ 99 & GR6A 6LIRT @M Iea 9IF I8 5y s 6T, 6969 x @ el
ST

Topic: Physics-Section B

Item No: 58

Question ID: 1269458

Question Type:

Numeric Answer

@ 8 V 5o I6ele e° 6e8Ie® gEsaixl R, 20 V QUIGe6 98 2°61Ig @aUgiql
(Basca 6085 godle 62198 ) U6 Adiy® §7a @604 25 mA 94, 6069 R @ 9944

IRy Q6%Q |
L AR
Question: R
'y R
|
| !
20V
Topic: Physics-Section B

Item No:

59




Question ID:

1269459

Question Type:

Numeric Answer

QEG R0 dae (6060 2% ) 92 A e° B @ 88 5uae (06w aaaid) aelges
252.40° 16). 76T | 9@ QINN6R 98 926 §IAd A°6Yl AFIF gFl. t IR 969

Question: o 1 - ~
eLde0 = =% B @ 6919 qigald 9°glia 2qdie A @ gigald el 2galesa “e”
[
6@6M. a=  6%Q |
Topic: Physics-Section B
Item No: 60
Question ID: 1269460

Question Type:

Numeric Answer

500 uF 36l G818 e §I9eg gd 964 100 V de 4919 (22 ) 9191 016 SLUSR |

Question: 26 & 50 mH 9988 (606a6!) 554 9996 60 6418 Y8 LC 98¢ eeieial | LC
dFe 60 96TIE JRIT (@609) AceQ |

Topic: Chemistry-Section A

Item No: 61

Question ID: 1269461

Question Type: | MCQ

FORYe 9oT g Gola g §el |
4 HNO;(I) + 3 KCl(s) — Cly(g) + NOCl(g) + 2 H,0(g) + 3 KNOs(s)

Question: 110.0 g @ KNO; 996 62610Ia @ala 6262al HNO; @ daslid 626F.
(gee: aeades @9a H, O, N 1ed K 60 6@8 «2igsa 1, 16, 14 9e° 39)

A 322¢g

B: 69.4 g

C: 91.5¢

D: 162.5¢

Topic: Chemistry-Section A

Iltem No: 62

Question ID: 1269462

Question Type: | MCQ




G169 PIERIT FEME S A VL FQ FAADE |
A.n=31=2,m=1m=+1/2
B. n =4, 1=1 my=0, in =412

Question:
C.n=4,1=2, m=-2,m,=-1/2
D.n=3,1=1,mj=-1, m ,=+1/2
@R 4 6 40w g¥ls CERE.

A D=<=B<=A<=C

B: D<A<B<C

C: B<D<A<C

D: B<D<(C<A

Topic: Chemistry-Section A

Item No: 63

Question ID: 1269463

Question Type: | MCQ

C(s) + Oy(g) — CO,(g) + 400 kJ

C(s) +305(2) — CO(g) + 100 kI

Question: 60% §E¢l 88l 6aaqlg F29E 2F6Ew 68 9Ralg 6a6R 60% FIew ‘CO’ g
QaI8ae P 19° 22391 “CO,’ § 9I88e 24 1 0.6 kg 9 6219RIg SIRER 29196
62989 QI 6208 _ |

A: 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kI

Topic: Chemistry-Section A

Item No: 64

Question ID: 1269464

Question Type: | MCQ

01 M HCI @ 200 mL 9@% of 0.01M H,50,4 @ 400 mL g dsigml M dgea pH

Question: 6298 |
@a: log 2=10.30,log3=0.48.log 5=0.70.log 7=0.84 . log 11 = 1.04
A: 1.14
B: 1.78
C: 2.34
D: 3.02




Topic:

Chemistry-Section A

Item No: 65
Question ID: 1269465
Question Type: | MCQ

@168 @8 919 @ gI8@ 619918 QAT |

gia @IEe elaagl (K)

He 5.2
Question: CH4 190.0

co2 304.2

NH3 405.5

e G 0814 @ A6 aa6e ATFC) ZY6HIEd casIRgel g9 § 6208,

A He
B: CH,
C: Cco,
D: NH;
Topic: Chemistry-Section A
Item No: 66
Question ID: | 1269466
Question Type: | MCQ

Question: Gl (Sn) @ FIRGE URGsa UeS

A 2I7] § Q%6 9ol Ui |

B 251 g 9% 66 9GS UM |

C: GOR 292Ig 24 FG18R FIGIEs @ERUF QTN |
D NaOH 28 QSR @RI |

Topic: Chemistry-Section A

Item No: 67

Question ID: 1269467

Question Type: | MCQ

GCI6R 95 9@ GRS
2@ I: F6RE 2ae TPeRe o e Qoleiqd |

Question: -

2@ II: *I6qa e A1 2q] |

UEAIS BB ARIVEE. &¢) FE FIG LGOI QIS AGQ TS
A: eag 02 11e° 6@ I O s |
B: eed 92 11e° 6 I gm 263 |




e@ 1 0 265 @g 03 I gn 269 |

o2 I gn 267 @3 92 11 OR 263

Topic: Chemistry-Section A
Item No: 68

Question ID: 1269468

Question Type: | MCQ

Question: caITRYIE el 66 gal X eIa 96ial a9 § Gela A | ‘X § @'a?
. ' 1

A: CaSOy - 3 H)0

C: CaSO,

D CaCO;

Topic: Chemistry-Section A

Item No: 69

Question ID: 1269469

Question Type: | MCQ

Question: 63I51g § CoO 928 QIEaa TIg (q9) 68 98¢ @6m 5106 1R Qe AINTE 6288,
A: B,0;

B Co(BO,),

C: CoB 404

D Co[B405(0H),]

Topic: Chemistry-Section A

Item No: 70

Question ID: 1269470

Question Type: | MCQ

GIRYS 3d-6A0IR Aae AUQ &4 2T NeaIRd AT ABELAR (Ay,gH) 62Q.

Question: = =
BLETEQER Tiel Flladisa Yafe @aldE?

A: et

B: MnZ™

C: Fel™

D: Co2™

Topic: Chemistry-Section A

Iltem No:

71




Question ID:

1269471

Question Type:

MCQ

@99 (II) @ 28T AGF §Ee 399 2°007! (FIF-69R9) 996 698 98 K93 |

Question: GoRge @aa (1) AgR 9w fug &4 Aake A0 2°06F] 6a8I9R ?
(en — YA @IR2ATG; H,N-CH,-CH,-NH,)

A: [Cu(H,0)5]50,4

B: [Cu(en)(H,0),4]80,

C: cis-[Cu(en),Cl,]

D: trans-[ Cu(en),Cl,]

Topic: Chemistry-Section A

Item No: 72

Question ID: | 1269472

Question Type: | MCQ

FIRFIFETIERS YR dadIn1 6459 @8 A% gIIe (am@a@) 5Q Uoaal 6TIE 2FIDS

Question: @ | FIPSTIEER @ AFING A2 USSR QG KAl Ye° 2snIe IS § SIYIY
Ra] 9I2| 6298,

A: NO

B: NO;

C: NO,

D: NO,

Topic: Chemistry-Section A

Item No: 73

Question ID: 1269473

Question Type: | MCQ

Question: QI y- Felda ARNEFERETF FITNELI9E A A0 A°AeF 626E.
)
A: H
A
CH, —C—H




o5

C: H
f i
CHy—C—H
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474
Question Type: | MCQ

cdlda A’ FOmge gonal 2ged 690 a6ed sdlisie ‘B’ &4 | 6didia ‘B’ o Q0%
Laeq Ne° FLRIF6! 6598,
[6920 Et = C,Hs]

Question: >_< (i) Mg, Eo0
(ih D0
Br
Compound 'A’

A: >_< p—

p -Achira
B: >_< . Chiral

0D
C: >_< Chiral

D
D: >_/\{JD Achiral
Topic: Chemistry-Section A
Item No: 75
Question ID: 1269475
Question Type: | MCQ




FCI60 9RIG 92 QRALIRE
CH,

| ,No,

ealedde [#H 6208 yeaqde |

573
tion:
Question Cl, (A)
CH;
~ . O,N | " . o
e@II: 2 6268 00a sdlde @ @dd geeq |
H ™SS
s - CH;
RUE0IS 93 RIVER, GF) IFE FUg AGOIR FUYS P LT :
A: eag 98 11e° e I O 256 |
B: eed 98 199° 9 Il 9m 6% |
C: e@ 1 0@ 265 @g 03 I gn 269 |
D: ea 1 gn 267 @3 98 11 OF 26T
Topic: Chemistry-Section A
Item No: 76
Question ID: | 1269476
Question Type: | MCQ

Releg 6Ie H,S0, 66 90516 @aIa6a Y9 gia 986 24 | 12 qidg 9199 609

Question: ks 2 o 3
@l QlElolE ARwile 999 U9t Wem SI0% 6208l edlola 6263,

A: TANGLIRE

B: ade ude

C: ol ol

D: @eleRIae 21¢)

Topic: Chemistry-Section A

Item No: 77

Question ID: 1269477

Question Type: | MCQ

Question:

FHEO AR CLRET.




A: ﬁ -Cl
0
N," CI

0
C: [:::[ji:h K’

y

N=N
’ /O/
HO

Topic: Chemistry-Section A
Item No: 78
Question ID: 1269478
Question Type: | MCQ

Question: GIRge g 6966 e 9Igee SF9w Q6% ?
A 6QITR

B alg

C: QIEal

D Sl

Topic: Chemistry-Section A

Item No: 79

Question ID: | 1269479

Question Type: | MCQ

GEI6R QBT @8 QaIKIE: 6015 9eel A a° AgT @Id R qIF6a QIFie @aIQIRg |
QROIA: CIPERIT GR6R AGSD |

Question: — -
@Iaél R: ICI96RIE 200 § 2@ qeRIe(glucose) Z7% 291 U% el 6551w 21 |
QUCAUS 9@ ARINES. T¢] IRT FRIQ A0R FVST QTP

A: 2El A @ R O 2166 99° R 6298 A 6 909 QUISHY! |

29 A 8 R O 266 9° R 6263 A @ 90 G4l g6< |




C: A O 2166 @3 R O q6% |
D: A Of g6% @3 R 09 2169 |
Topic: Chemistry-Section A

Item No: 80

Question ID: 1269480

Question Type: | MCQ

sdlde ‘X 9@ O 21¢) 96° 9% NaOH 3 CH3COOH @ ga¢s 93galea gaiie

Question: @5 Geoef pH 60 a&f 9eRI99l 698N | 6dldes X SISIE FIUCER 2SHFTRE
FeaIea g6 | 6498 ‘X’ 6208 ,

A: delda Zeas

B: dellda 60

C: sTFaEndeIfg

D: ARSHIA Qe G

Topic: Chemistry-Section B

Item No: 81

Question ID: 1269481

Question Type:

Numeric Answer

‘x' g @ 2I6eF AF6wR (0,) 200 ¢ FAF 986 AdIART | Inaa 866a AAFE O,
@° Ne Cig41Q 919 628 25 bar | 69F Qrliq QDG @ 2199 69 Ne @ 2I°69 GId

Question: 6208 20 bar | 'x’ Q FJAY 6208 |
[gee: 0, 8 691IRI9 @& = 32 gmol 1,
Ne @ 661IRI8 @28 = 20 g mol ']

Topic: Chemistry-Section B

Item No: 82

Question ID: 1269482

Question Type:

Numeric Answer

PF.. BiF. PCly. SF,. [IC1,]. CIF;. IF; | 906QI® 2/ 20a g@e aag sp d’

Question: . o L
A°@a€l gl 2l 2 Yeaq 9°6lHl 6Le8 I

Topic: Chemistry-Section B

Item No: 83

Question ID: 1269483

Question Type:

Numeric Answer




1.80 g @4 A § 62.5 em’ Q SEIGRER GRS SRR | 4E ged @ Fale 155.1 K
ceSIGRl | 99 A @ 6FIRIR 924 6298 gmol ! |

Question: JoR: fellen @ @lie 6263 156.0K |
PEER Q IFE 6208 0.80 g cm > |
QENGR & FAIEFS 2Raas daler 6208 2.00 K ke mol ! |
Topic: Chemistry-Section B
Iltem No: 84
Question ID: 1269484
Question Type: | Numeric Answer
SER=l

Cu(s) | Cu?(0.001M) || Ag™ (0.01M) | Ag (5)
digl 6918 @92 298 K 66 0.43 V 628141 | Cu’™/Cu 4 flaw 83495 909 @

Question: i " e
deitllds e9wE x 10 “V.
Given:EZ | =0.80V and 20T _ o6y
Ag’ [ Ag
Topic: Chemistry-Section B
Iltem No: 85
Question ID: 1269485

Question Type:

Numeric Answer

dQIEIE 1pg & 98 197 (669) 66ada 6daw X, 30 oF 2ig 986 98 @86 agea

Question: calSeeaal | 100 od 96a 9864 gl X @ 29de 9t 6208 x 10 g |
[@&: In 10=2.303:log 2=10.30 |

Topic: Chemistry-Section B

Item No: 86

Question ID: 1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,] 69 g2 G19él 2Ll 1L Ag6IFIel 6 (g4 628

Question:

Topic: Chemistry-Section B
Iltem No: 87

Question ID: 1269487

Question Type:

Numeric Answer




ARETE 2IMIGE 6R6SIT 26g1NMEe Gr6a QRIIRE?

Question: HESO3 i HESO4 ; HESEOS = H2820?
6068631 (0-0) @86 26g1Mae 60 290 |

Topic: Chemistry-Section B

Item No: 88

Question ID: 1269488

Question Type:

Numeric Answer

1.84 mg @ IRLIRER AR 6dlde ‘X A9 9o 92.0 g/mol 9 9w Qga

Question: STP 6@ 1.344 mL, H, gi@ 6afl | 64lcia ‘X’ 68 gQl 2IRERILRG LANSSIERT @
Qg 620F |

Topic: Chemistry-Section B

Item No: 89

Question ID: | 1269489

Question Type:

Numeric Answer

(%) Ph(C = 0)C(OH) (CN)Ph @@% HCN g&gl @ 5106 &7Ige A71eaas 2°a|

Question: 6RGT |
[Ph 6@@@ — CﬁHS-]

Topic: Chemistry-Section B

Item No: a0

Question ID: 1269490

Question Type:

Numeric Answer

Question:

cRIERIZIAGRM 19° QZan 6 gal 6]IaR Jaslg @ A6 6207 Qeliger e




